EH SRR BHL P X >—8 2023.10
<F,HA >

LY A4 1a—20B#K FEI—R ERTLHO A BEE wE5HA% | ®5H
N 600mg/m?* =y dayl
EC 21H 42— -
IELEY Y 90mg/m? U dayl
N 600mg/m?* =y dayl
dose-denceEC 14H 43—-2X —
IELEY Y 90mg/m? U dayl
N 600mg/m?* =y dayl
TC 21H 43—ZX/PDET r
¥y T—I 75mg/m?® RO dayl
e N 600mg/m? =y dayl
TC+nN—t7F> (38E®E) [#m]) 21H 43—2/PDET REX)F—)b 75mg/m2 =] dayl
IN—t TTF 8mg/kg JPi] dayl
T rFHv 600mg/m? =y dayl
TC+n—t7F> (3:8ME) [2REELURE] 21H 42—-2/PDET KEYT—I 75mg/m? U dayl
N—t TF 6meg/kg Jpi] dayl
DOC (3:BfEE) 2 1H 43—2/PDET K¥T—I 75mg/m? Jpi] dayl
. REYT—I 2 U dayl
DOC+N—+7F > (3ERE) [wE] 210 43-2/PDET 7 75mg/m i 4
N—t T 8mg/kg Jy] dayl
. REYT—I 2 U dayl
DOC+N—+£7F> (3ERE) [2EE L] 2180 42-2/PDET 7 75me/m o d
N—t T 6mg/kg Jp] dayl
PAC (1:BR%E) 7H 123—2/PDET AR & Y 80mg/m? g dayl
dose-dencePAC 14H 43-2 Ry ZFALI 175mg/m? FOR dayl
. Ny ) RERIL 2 =V day1,8,15
PAC+\—t7F> (3:@ME) [#E] 218 432—-2/PDET - S0me/m _E.ﬂ_ -
IN—ETF 8mg/kg =i dayl
. Ny RERIL 2 U day1,8,15
PAC+—+t 77> (3:BfE) [2EBLUE] 21H 43—2/PDET - 80me/m Eﬁ_ d
N—t TF 6mg/kg =i dayl
N—t7Fr (3BHEE) [¥E] 21H 1 4 f N—ETF 8mg/kg =¥ day1




N—t7Fr (3BM[E) [2[[EELUE] 21H 14/ N—t TTF 6mg/kg fragii] dayl
VNR 2 1H PDET otz 25mg/m? =¥ day1,8
GEM 218 PDET T LYRE Y 1250mg/m? = day1,8
HAL 21H PDE T INT T TV 1.4mg/m? SE dayl,8
. NT TV : 2 = day1,8
HAL+ =€ 7F> (3:8R%) (9] 218 PDET 77 L4me/m A ay
IN—t TTF 8mg/kg A dayl
. INTT TV , 2 s day1,8
HAL+ A —€ 7F> (3BRE) [2E 8L 21/ PDET " L-4me/m o 2
N—t TF 6mg/kg g dayl
YVAEEED 2 = day1,8,15
PACH 7 AZF > [#1mE] 288 PDE A 20me/m -
TINATF v 10mg/kg P dayl,15
NI RELIL 2 U day1,8,15
PAC+ 71X F v [2[EEBLIE) 28H PDxT 90me/m _EE il
TINZAF v 10mg/kg Jp] day1,15
nab-PAC 21Hd PDET T77x¥Y 260mg/m? JPi] dayl
H KH¥ 45 (T-DM1) 21H PDET HRHAS 3.6mg/m? U dayl
Tyva—Y (T-DXd) 21H PD% T Ton— 5.4mg/m? b day1l
\ FEY Y 840mg/bod =E day1,15
TEY RO+ TTIFY Y 21Hd 43-2 — : . i .
TTIEY 100mg/m?* AU day1,8,15
A4 bL—4% 200mg/body Jpi] dayl
*4 FJL—4% +GEM+CBDCA 21AH PDXT T LY RE Y 1000mg/m? Joy| dayl,8
HIVRT ZF > AUC=2 Jp] dayl,8
\ XA PL—K 200mg/bod U day1l
A FL—K+PAC 21H PDxT 8/body j 4
N7 REEIL 9Omg/m2 B dayl,8,15
\ XA PL—K 200mg/bod U day1l
¥4 kJL—4& +nab-PAC 21H PD% T — E/00% _ﬁ_ 4
TTIEY 100mg/m? AU day1,8,15
¥y T—I 75mg/m? ORI dayl
DOC+HP [H - P : #[@E] 218 423—-2 N—t TF 8mg/kg =] day1l
N— 1 &R 840mg/body =] dayl




RE¥YT—I 75mg/m? =] dayl
DOC+HP [H - P : 2 [E L] 1H 42-2 N—tTTF 6mg/kg = dayl
N— L& 420mg/body Jgi] dayl
U ZEFALI 80mg/m? =i day1,8,15
PAC (1:Bf%E) +HP [H - P : #)[E] 1H 123-2 N—tTTFv 8mg/kg V] dayl
N— & 840mg/body J P dayl
N7 x2FEIL 80mg/m?® J=g] day1,8,15
PAC (1:8F%&E) +HP [H - P: 2 [E B U] 1H 123-2 N—t TTF 6mg/kg Javii dayl
N— & 420mg/body J P dayl
HP (3:8F%&E) [H-P:#[E]) 1H 14 /\_t\%@/ Bme/ke 5? dayl
N— & 840mg/body Jp] dayl
HP (3EM&) [2EELH] 1B | NTRTF bme/ke i dayl
N— & 420mg/body Jp] dayl
A4 bL—% 200mg/body JPi] dayl
1 hJL—%&200mg+CBDCA(QW)+PAC 1H 43—2 WIVRTZF AUC=1.5 JPi] day1,8,15
N7 RELIL 80mg/m? =% day1,8,15
A4 bL—% 200mg/body Jpi] dayl,8,15
¥4 hJL—%200mg+ CBDCA(QW3)+PAC 1H 430—2 AIWVRTZF > AUC=5 Jpi] dayl
N7 RELIL 80mg/m? =% day1,8,15
A4 bL—4% 200mg/body Jpi] dayl
¥4 bL—%200mg+EC 1H 4a—= IEILEY 90mg/m? =] dayl
IV REH> 600mg/m? =¥ day1
4 FIL—&200mg 1H PDET A bL—&K 200mg/body =] dayl




